


�<F><<DEL>4 
?>?VF5E=V>4 

����%&�$%&�� �%��&� � ��'�� '�$���� 
��$������ '����$%�&�& «��&���$%,�� ����&�%����» 
%<EF5<4 G?D46?V==O O>VEFN 6V4?>6V44T �%&' ISO 9001:2015 

$-19.09-
05.01/076.00.1/� 

/��13-2023 

�>75<??OD 7 1 �D>  12/ 2 

 

1. �?<E =46G4?L=>W 4<EF<??V=< 
 

�4=<5=G64==O 
?>>47=<>V6 

�4?G7L 7=4=L, =4?DO< 
?V47>F>6><, >E6VF=V= EFG?V=L 

%4D4>F5D<EF<>4 =46G4?L=>W 
4<EF<??V=< 

45==4 D>D<4 
=46G4==O 

74>G=4 D>D<4 
=46G4==O 

�V?L>VEFL >D54<FV6 -4 
�4?G7L 7=4=L 

07 «'?D46?V==O F4 
44<V=VEFDG64==O» 

___=>D<4F<6=4___ 
(=>D<4F<6=4, 74 6<5>D><) 

�>4G?V6 32 
%?5FV4?L=VEFL  

076 «�V4?D<T<=<FF6>, 
F>D7V6?O F4 5VD6>64 

4VO?L=VEFL» 

$V> ?V47>F>6><: 2-=  

�<VEF>6<E <>4G?V6 3 2 
2023 2023 

%5<5EFD 

�474?L=4 >V?L>VEFL 7>4<= - 
120 

2-= 2-= 

�5>FVW 

&<6=56<E 7>4<= 4?O 
45==>W D>D<< =46G4==O: 

4G4<F>D=<E -7,0 
E4<>EFV==>W D>5>F< 313,0 

�E6VF=V= EFG?V=L «<47VEFD» 

18 7>4. 6 7>4 

�D4>F<G=V 

24 7>4. 8 7>4. 
�45>D4F>D=V 

_-_ 7>4. _-_ 7>4. 
%4<>EFV==4 D>5>F4 

78 7>4. 106 7>4. 
 

�<4 >>=FD>?N: �>74<5= 

 
%?V66V4=>L5==O >V?L>>EFV 7>4<= 4G4<F>D=<E 74=OFL 4> E4<>EFV==>W F4 

V=4<6V4G4?L=>W D>5>F< EF4=>6<FL: 
4?O 45==>W D>D<< =46G4==O 3 30,0 % 4G4<F>D=<E 74=OFL, 70,0 % 

E4<>EFV==>W F4 V=4<6V4G4?L=>W D>5>F<. 
4?O 74>G=>W D>D<< =46G4==O 3 11,7 %  4G4<F>D=<E 74=OFL, 88,3 % 

E4<>EFV==>W F4 V=4<6V4G4?L=>W D>5>F<. 
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2. �5F4 F4 74644==O =46G4?L=>W 4<EF<??V=< 
 

�5F>N 4<EF<??V=< «�>7VEF<>4» T ED>D<G64F< G <4=5GF=VE E?5FV4?VEFV6 
E<EF5<=<E 7=4=L 7 D54?V74FVW EFD4F57V= >=?4==-F>D7V6?V 5VD6>6<<< 4>F<64<<, 4 
F4>>6 74>5GF< ?D4>F<G=<= 4>E6V4 V=65EFG64==O >>LFV6 6 V=EFDG<5=F< 
D>=4>6>7> F4 64?NF=>7> D<=>V6 7 6<>>D<EF4==O< F>D7>6>-V=D>D<4FV==<E 
E<EF5<.  

�4644==O<< 6<6G5==O 4<EF<??V=< T D>D<G64==O G EFG45=FV6 =5>5EV4=<E 
F5>D5F<G=<E 7=4=L V ?D4>F<G=<E =46<G>> 7 F5E=>?>7V= V=F5D=5F-FD5=4<=7G; 
>7=4=><?5==O 7 F5>D5F<G=<<<, ?D4>F<G=<<< V ?D>7D4<=<<< 74E>54<< V 
DVL5==O<<, 6<>>D<EF>6G64=<<< 6 >5?4EFV V=F5D=5F-FD5=4<=7G; 6<D>5?5==O 
=46<G>> ?D4>F<G=>W D>5>F< 7 F5E=>?>7VO<<, V=EFDG<5=F4<< F4 <5F>44<<, 
6<>>D<EF>6G64=<<< =4 D>=4>6<E F4 64?NF=<E D<=>4E.  

�<VEF =46G4?L=>W 4<EF<??V=< =4?D46?5=<= =4 D>D<G64==O =4EFG?=<E 
>><?5F5=F=>EF5=, 6<7=4G5=<E EF4=44DF>< 6<M>W >E6VF< 7V E?5FV4?L=>EFV 076 
«�V4?D<T<=<FF6>, F>D7V6?O F4 5VD6>64 4VO?L=VEFL»: 

��. �44F=VEFL D>769O7G64F< E>?44=V 7444GV V ?D>5?5<< G 74?G7V 
?V4?D<T<=<FF64, F>D7V6?V F4/45> 5VD6>6>W 4VO?L=>EFV 45> G ?D>F5EV =46G4==O, M> 
?5D5454G4T ?D>6545==O 4>E?V465=L F4/45> 74V=E=5==O V==>64FV= 74 =56<7=4G5=<E 
G<>6 V 6<<>7. 

�� 5. �<7=4G5=VEFL V =4?>?57?<6VEFL M>4> ?>EF46?5=<E 74644=L V 67OF<E 
>5>69O7>V6. 

%� 3. �44F=VEFL 4> 5D5>F<6=>7> G?D46?V==O 4VO?L=VEFN EG59T>FV6 
7>E?>44DN64==O 6 ED5DV ?V4?D<T<=<FF64, F>D7V6?V F4/45> 5VD6>6>W 4VO?L=>EFV.  

�FD<<4=V 7=4==O 7 =46G4?L=>W 4<EF<??V=< EF4=GFL E>?44>6<<< =4EFG?=<E 
?D>7D4<=<E D57G?LF4FV6 =46G4==O 74 E?5FV4?L=VEFN 076 «�V4?D<T<=<FF6>, 
F>D7V6?O F4 5VD6>64 4VO?L=VEFL»: 

�$� 5. �<VF< ?D>D5EV==>, 6 ?>6=><G >5EO7V = 7 F6>DG>N E4<>D54?V74FVTN 
6<>>=G64F< ?>EF46?5=V 74644==O G ED5DV ?V4?D<T<=<FF64, F>D7V6?V F4/45> 
5VD6>6>W 4VO?L=>EFV.   

�$� 9.  $>7D>5?OF< V ?D<=<4F< DVL5==O, E?DO<>64=V =4 74557?5G5==O 
5D5>F<6=>EFV 4VO?L=>EFV EG59T>FV6 7>E?>44DN64==O G ED5DV ?V4?D<T<=<FL>>W, 
F>D7>65?L=>W F4/45> 5VD6>6>W 4VO?L=>EFV.   
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3. �D>7D4<4 =46G4?L=>W 4<EF<??V=<  
�<VEF>6=<= <>4G?L 1. �>>=><VG=<= 7<VEF F4 V=EFDG<5=F4DV= V=F5D=5F-

FD5=4<=7G 
&5<4 1. &5>D5F<G=V >E=>6< V=F5D=5F-FD5=4<=7G  
%GF=VEFL F4 >?4E<DV>4FVO 5VD6>6<E D<=>V6. �EF>DVO EF4=>6?5==O 5?5>FD>==>W 

5VD6>6>W F>D7V6?V. �>=OFFO F4 >E>5?<6>EFV V=F5D=5F-FD5=4<=7G =4 5VD6>6><G 
D<=>G. �5D5647< F4 =54>?V>< V=F5D=5F-FD5=4<=7G. %GF=VEFL F4 ?5D5647< V=F5D=5F-
FD5=4<=7G.  

&5<4 2. %GG4E=V E<EF5<< V=F5D=5F-FD5=4<=7G  
�?5>FD>==V 5D>>5DEL>V ?>E?G7<. �E>5?<6>EFV V=F5D=5F-FD5=4<=7G 6 '>D4W=V. 

&5E=>?>7VW E<EF5<< 5?5>FD>==<E 5VD6>6<E F>D7V6. �D>7D4<=V ?D>4G>F< 
V=F5D=5F-FD5=4<=7G (Quik, MetaTrader).  

&5<4 3. �E<E>?>7VO V=F5D=5F-FD5=4<=7G  
�>654V=>>64 5>>=><V>4 G E<EF5<V EGG4E=<E 5>>=><VG=<E ?>7?O4V6. 

�E<E>?>7VG=V >E>5?<6>EFV V=F5D=5F-FD5=4<=7G. $4FV>=4?L=VEFL F4 
VDD4FV>=4?L=VEFL GG4E=<>V6 5VD6>6<E F>D7V6. �E<E>?>7VO F4 ?D>F5E ?D<==OFFO 
DVL5=L =4 5VD6>6<E D<=>4E. �??<6 F5<?5D4<5=FG =4 ?D<==OFFO DVL5=L 6 
V=F5D=5F-FD5=4<=7G.  

 
�<VEF>6<= <>4G?L 2. &>D7>6V EFD4F57VW V=F5D=5F-FD5=4<=7G 

&5<4 4. $G=44<5=F4?L=<= 4=4?V7 >59T>FV6 V=F5D=5F-FD5=4<=7G  
�474?L=V ?D46<?4 DG=44<5=F4?L=>7> 4=4?V7G. $4>F>D< >FV=>< >><?4=V= 

77V4=> '. �4DD5F4. �>45?L=4 ?D>F54GD4 DG=44<5=F4?L=>7> 4=4?V7G. �=4?V7 
<4>D>5>>=><VG=<E V=4<>4F>DV6 (���, V=D?OFV==V ?>>47=<><, V=4<>4F>D< 
4V?>6>7> F<>?G, ?>>47=<>< D<=>G ?D4FV, ?>>47=<>< <V6=4D>4=>W F>D7V6?V, 
5N465F=V ?>>47=<><, V=D>D<4FVO ?D> 4>E>4< =4E5?5==O, ?>>47=<>< 
6<D>5=<G>7> E5>F>DG, V=4<>4F>D< E?>6<6G>7> ?>?<FG, V=45>E< =4EFD>W6 
E?>6<64GV6). �5F>4< 6<7=4G5==O 4V=E=>W 64DF>EFV 4>FV=: <5F>4 >FV=>< 6<FD4F, 
<5F>4 ?>DV6=O==O, <5F>4 >FV=>< 4>E>4V6. �5F>4 4<E>>=F>64=<E 7D>L>6<E 
?>F>>V6 (FCFE). �>45?L ?>EFV==>7> 7D>EF4==O 4<6V45=4V6 (constant growth 
model) 45> <>45?L �>D4>=4-,4?VD> (Gordon-Shapiro model), FDL>ED47=4 DDM, 
�V4<V==>EFV <V6 <>45??N 4<E>>=FG64==O 4<6V45=4V6 F4 <>45??N FCFE. 
�>DO4>> D>7D4EG=>G >E=>6=<E D<=>>6<E <G?LF<??V>4F>DV6 4>FV= ?D< 
?>DFD5?L=><G V=65EFG64==V (P/E, P/S, EV/EBITDA, P/BV F4 V=LV). $5>><5=44FVW 
�. �D5E5<4 M>4> DG=44<5=F4?L=>7> 4=4?V7G 4>FV=. �>DO4>> 6<7=4G5==O 4V=E=>W 
64DF>EFV >5?V74FV=. &5>D5<< >FV=>< >5?V74FV=. �>>47=<>< >FV=>< 
??4F>E?D><>6=>EFV F4 5>D7>6>7> =464=F465==O 5<VF5=FV6 >5?V74FV=. �D54<F=V 
D5=F<=7< <V6=4D>4=<E D5=F<=7>6<E 475=FEF6. $V=4=E>6V >>65=4=F<.  

&5<4 5. &5E=VG=<= 4=4?V7 >59T>FV6 V=F5D=5F-FD5=4<=7G  
�D<=F<?< F5E=VG=>7> 4=4?V7G >59T>FV6 D<=>G. �5D5647< F4 =54>?V>< 

F5E=VG=>7> 4=4?V7G. �E=>6=V F<?< 7D4DV>V6 (?V=V==V 7D4DV><, 54D<, O?>=EL>V 
E6VG><, «ED5EF<><-=>?<><», 7D4DV>< >5EO7G F>D7V6 F4 6V4>D<F>7> V=F5D5EG). 
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%GF=VEFL F4 6<4< FD5=4V6 (?V=VW ?V4FD<<>< F4 >?>DG, D?5F). �V=VO >4=4?G. 
�D46<?4 74EF>E>6G64==O FD5=4>6<E ?V=V= F4 >4=4?V6. $47< FD5=4V6 77V4=> '. �>G. 
�5?<: 76<G4==<=, ?D<E>>D5==O, 6<E=465==O, ?D>5<FFO DV6=O. &D5=4>6V <>45?V F4 
DV7GD<: DV7GD< ?D>4>665==O F5=45=FVW (FD<>GF=<><, ?DO<>>GF=<><), D565DE<6=V 
DV7GD< («7>?>64 F4 ??5GV», «?>46V==4 65DL<=4», «?>46V==5 4=>»). �?4EF<6>EFV 
D565DE<6=<E DV7GD. �=4<>4F>D< ?V4F65D465==O FD5=4G: >>67=V E5D54=V, ADX, 
E<G7< �>??V=465D4, V=4<>4F>D �L<<>>G. �EF<?OF>D<. $V6=V ?5D5>G??5=>EFV 
(overbought) F4 ?5D5?D>44=>EFV (oversold). $>7E>465==O 45> 4<65D75=FVO 
(divergence). �E=>6=V ?D46<?4 6<>>D<EF4==O >EF<?OF>DV6. RSI (Relative Strength 
Index, �=45>E 6V4=>E=>W E<?<), Stochastic Oscillator (%F>E4EF<G=<= >EF<?OF>D), 
MACD (Moving Average Convergence / Divergence, %E>465==O-D>7E>465==O 
>>67><E E5D54=VE). &<>?VG=V 74>>=><VD=>EFV =4 D<=>G DV=4=E>6<E 4>F<6V6. 
%6<?L>64 F5>DVO �??V>F4. �<?G?LE< F4 >>D5>FVW, <>=>- F4 ?>?VE6<?V. �D46<?4, O>V 
E4D4>F5D<7GNFL 674T<=V E?V66V4=>L5==O D>7<VDV6 E6<?L. �?4EF<6>EFV F4 6<4< 
E6<?L. �=EFDG<5=F< $V5>=4GGV, ?V=VW �4==4, 4=4?V7 <>45?5= O?>=EL><E E6VG>>.  

&5<4 6. &>D7>6V EFD4F57VW V=F5D=5F-FD5=4<=7G  
�>=OFFO F>D7>6<E EFD4F57V=. �?4E<DV>4FVO F>D7>6<E EFD4F57V=. �D4>F<G=5 

74EF>EG64==O F>D7>6<E EFD4F57V=. �<4< F>D7>6<E E<EF5< =4 D<=>G DV=4=E>6<E 
4>F<6V6. �>DO4>> D>7D>5>< V=FGWF<6=<E E<EF5<. �D46<?4 F>D7>6>W E<EF5<<. 
�F4?< ?>5G4>6< F4 F5EFG64==O F>D7>6>W E<EF5<<. �>>47=<>< 5D5>F<6=>EFV 
F>D7>6>W E<EF5<<. &>D7>64 E<EF5<4 «FDL>E 5>D4=V6» (triple screen) �. �?45D4. 
$>76<F>> 4?7>D<F<VG=>W F>D7V6?V DV=4=E>6<<< 4>F<64<<. �<4< 4?7>D<F<VG=<E 
EFD4F57V= (6<>>=46GV F4 E?5>G?OF<6=V EFD4F57VW). �D>7D4<=V ?D>4G>F< 4?O 
EF6>D5==O F>D7>6<E D>5>FV6. �5E4=V7< ?V<VFG64==O =4 >E=>6V 6<EF46?5==O 
G<>6=<E 74O6>> >G?V6?V-?D>446G FV==<E ?4?5DV6 («F5=>-?D>DVF» V «EF>?-?V<VF»). 
'?D46?V==O >4?VF4?>< ?D< V=F5D=5F-FD5=4<=7G: <5F>4 DV>E>64=>W EG<<, <5F>4 
DV>E>64=>7> ?D>F5=FG >4?VF4?G ?V4 D<7<>><, <5F>4 DV>E>64=>W >V?L>>EFV 
>>=FD4>FV6, <5F>4 DV>E>64=>W ?D>?>DFVW $4=4=4 �6>=E4, <5F>4 G77>465==O 
6<7D4LV6 V ?D>7D4LV6, <5F>4 ?5D5F<=G >D<6<E 4>EV4=>EFV. �>654V=>>6V 4E?5>F< 
?D< V=F5D=5F-F>D7V6?V DV=4=E>6<<< 4>F<64<<. �6D<EF<><: 56D<EF<>4 
D5?D575=F4F<6=>EFV, 56D<EF<>4 4>EFG?=>EFV, 56D<EF<>4 74>DV??5==O F4 
?D<EF>EG64==O. &5>DVO ?5DE?5>F<6 �4=5<4=4-&65DE>V. �E=>6=V ?E<E>?>7VG=V 
D5=><5=< =4 DV=4=E>6<E D<=>4E.  
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4. %FDG>FGD4 (F5<4F<G=<= ??4=) =46G4?L=>W 4<EF<??V=< 
 

�<VEF>6V <>4G?V V F5<< 

�V?L>VEFL 7>4<= 

45==4 D>D<4 74>G=4 D>D<4 

GE
L>

7>
 

?5
>F

VW
 

?D
4>

F<
G=

V 

E4
<

>E
FV

==
4 

D>
5>

F4
 

GE
L>

7>
 

?5
>F

VW
 

?D
4>

F<
G=

V 

E4
<

>E
FV

==
4 

D>
5>

F4
 

�<VEF>6=<= <>4G?L 1. �>>=><VG=<= 7<VEF F4 V=EFDG<5=F4DV= V=F5D=5F-FD5=4<=7G 
&5<4 1. &5>D5F<G=V >E=>6< V=F5D=5F-
FD5=4<=7G  

20 3 4 13 20 1 1 18 

&5<4 2. %GG4E=V E<EF5<< V=F5D=5F-FD5=4<=7G 20 3 4 13 20 1 2 17 
&5<4 3. �E<E>?>7VO V=F5D=5F-FD5=4<=7G  20 3 4 13 20 1 1 18 

$47>< 74 7<VEF>6<= <>4G?L 1 60 9 12 39 60 3 4 53 
�<VEF>6<= <>4G?L 2. &>D7>6V EFD4F57VW V=F5D=5F-FD5=4<=7G 

&5<4 4. $G=44<5=F4?L=<= 4=4?V7 >59T>FV6 
V=F5D=5F-FD5=4<=7G  

20 3 4 13 20 1 1 18 

&5<4 5. &5E=VG=<= 4=4?V7 >59T>FV6 V=F5D=5F-
FD5=4<=7G 

20 3 4 13 20 1 2 17 

&5<4 6. &>D7>6V EFD4F57VW V=F5D=5F-FD5=4<=7G  20 3 4 13 20 1 1 18 
$47>< 74 7<VEF>6<= <>4G?L 2 60 9 12 39 60 3 4 53 

�%,��� 120 18 24 78 120 6 8 106 
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5. &5<< ?D4>F<G=<E (?45>D4F>D=<E) 74=OFL 
 

 
6. �4644==O 4?O E4<>EFV==>W D>5>F< 

7 
7/? 

�4764 F5<< �V?L>VEFL 7>4<= 
45==4 
D>D<4 

74>G=4 
D>D<4 

1 &5<4 1. &5>D5F<G=V >E=>6< V=F5D=5F-FD5=4<=7G 13 18 
2 &5<4 2. %GG4E=V E<EF5<< V=F5D=5F-FD5=4<=7G 13 17 
3 &5<4 3. �E<E>?>7VO V=F5D=5F-FD5=4<=7G  13 18 
4 &5<4 4. $G=44<5=F4?L=<= 4=4?V7 >59T>FV6 V=F5D=5F-FD5=4<=7G  13 18 
5 &5<4 5. &5E=VG=<= 4=4?V7 >59T>FV6 V=F5D=5F-FD5=4<=7G 13 17 
6 &5<4 6. &>D7>6V EFD4F57VW V=F5D=5F-FD5=4<=7G  13 18 

$47><  78 106 
 
 
 

7. �=4<6V4G4?L=V 74644==O 
�4644==O 4?O E4<>EFV==>W D>5>F< EFG45=F4 

$5>><5=44FVW M>4> 6<>>=4==O >>=FD>?L=>W D>5>F< 
�V47>F>6>4 V=4<6V4G4?L=>7> 74644==O ?5D5454G4T 6<5VD F5<< F4 

G77>465==O WW. � <5F>N ?>?57L5==O ?V47>F>6>< D>5>F< ??4= E?V4 D>77>D=GF< =4 
?V4?<F4==O. �V47>F>6>4 D>5>F< >5>69O7>>6> ?5D5454G4T 75VD =5>5EV4=>W =4G>>6>W 
V=D>D<4FVW ?> F5<V D>5>F< F4 ?VF5D4FGD=<E =4G>>6<E 465D5?, 6 F><G G<E?V = 
<>=>7D4DVG=>W ?VF5D4FGD<. $>5>F4 <4T <VEF<F< G7474?L=5=<= <4F5DV4?. 

%?V4 6<>>D<EF>6G64F< 6?4E=V E?>64, <VEF<F< >E>5<EFV G7474?L=5==O V 
6<E=>6><. �<>?44 F5<< <4T 5GF< ?>E?V4>6=<<, E?<D4F<EO, G D47V =5>5EV4=>EFV, 
=4 4=4?V7 ?D46>74EF>E>6=>W ?D4>F<><.  

�=4<6V4G4?L=5 74644==O <4T 5GF< 6<>>=4=<= 7 74EF>EG64==O< 
>><?9NF5D=>7> =45>DG 6 >5EO7V 15-20 EF>DV=>>. %F>DV=>< =G<5DGNFLEO. 
�>E<?4==O =4 =>D<4F<6=V 465D5?4 <4NFL 5GF< F>G=<<<. %?<E>> ?VF5D4FGD< <4T 
5GF< ?>6=<< V 6>?NG4F< >E=>6>?>?>6=V <>=>7D4DVG=V D>5>F<, GG5>6V 

7 
7/? 

�4764 F5<< 
�V?L>VEFL 7>4<= 

45==4 
D>D<4 

74>G=4 
D>D<4 

1 &5<4 1. &5>D5F<G=V >E=>6< V=F5D=5F-FD5=4<=7G  4 1 
2 &5<4 2. %GG4E=V E<EF5<< V=F5D=5F-FD5=4<=7G 4 2 
3 &5<4 3. �E<E>?>7VO V=F5D=5F-FD5=4<=7G  4 1 
4 &5<4 4. $G=44<5=F4?L=<= 4=4?V7 >59T>FV6 V=F5D=5F-FD5=4<=7G  4 1 
5 &5<4 5. &5E=VG=<= 4=4?V7 >59T>FV6 V=F5D=5F-FD5=4<=7G 4 2 
6 &5<4 6. &>D7>6V EFD4F57VW V=F5D=5F-FD5=4<=7G  4 1 

$���� 24 8 
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?>EV5=<><, =>D<4F<6=<= <4F5DV4? F4 6GD=4?L=V EF4FFV. �5 4>?GE>4TFLEO 
6<>>D<EF4==O ?<L5 >4=>7> 465D5?4 V =>7> 5G>64?L=<= 6<>?44.  

�5D5?V> F5< V=4<6V4G4?L=>7> 74644==O: 
1. �>D<4F<6=>-?D46>65 D57G?N64==O <4D6<=4?L=>W F>D7V6?V =4 D<=>G 

FV==<E ?4?5DV6 '>D4W=<  
2. �E>5?<6>EFV >?>44F>G64==O >?5D4FV= V=F5D=5F-FD5=4<=7G.  
3. �>DV6=O?L=4 E4D4>F5D<EF<>4 >E=>6=<E 6<4V6 V=65EF<FV==>7> 4=4?V7G 

DV=4=E>6<E 4>F<6V6.  
4. �E>5?<6>EFV DG=>FV>=G64==O D<=>G FOREX.  
5. �>DV6=O?L=4 E4D4>F5D<EF<>4 F4D<DV6 7 V=F5D=5F-FD5=4<=7G >= ?4== 

5D>>5DV6 =4 D<=>G FV==<E ?4?5DV6 '>D4W=<.  
6. $>76<F>> V=F5D=5F-F>D7V6?V FV==<<< ?4?5D4<< 6 %,�. 
7. $>76<F>> 6<E>>>G4EF>F=>W F>D7V6?V DV=4=E>6<<< V=EFDG<5=F4<< =4 

<V6=4D>4=<E D<=>4E 
8. �>DV6=O==O 5D5>F<6=>EFV 74EF>EG64==O FD5=4>6<E <>45?5= V DV7GD F4 

V=4<>4F>DV6 F5E=VG=>7> 4=4?V7G.  
9. �>DO4>> 74EF>EG64==O >>67=<E E5D54=VE ?D< 6<7=4G5==V E<7=4?V6 

>G?V6?V-?D>446G DV=4=E>6<E 4>F<6V6.  
10. �E=>6=V D<E< >EF<?OF>DV6 ?D< F5E=VG=><G 4=4?V7V DV=4=E>6<E D<=>V6.  
11. �D5>F<6=VEFL 74EF>EG64==O E6<?L>6>7> 4=4?V7G G F>D7V6?V FV==<<< 

?4?5D4<<.  
12. �=4?V7 <4>D>5>>=><VG=<E V=4<>4F>DV6 6 '>D4W=V F4 WE 674T<>769O7>> 7 

DV=4=E>6<<< D<=>4<<.  
13. �=4?V7 <G?LF<??V>4F>DV6 4>FV= 4?O «5?4><F=<E DVL>>» D<=>G FV==<E 

?4?5DV6 '>D4W=<.  
14. �>DV6=O?L=<= 4=4?V7 4=4?VF<G=<E 44=<E M>4> FV?L>6<E FV= ?D>6V4=<E 

4>FV= D<=>G FV==<E ?4?5DV6 '>D4W=< =4 >E=>6V 44=<E F>D7V6FV6 FV==<<< 
?4?5D4<<.  

15. �D54<F=V D5=F<=7< 5<VF5=FV6 >5?V74FV= 6 '>D4W=V.  
16. �FV=>4 ??4F>E?D><>6=>EFV =4=5V?LL 5<VF5=FV6 =4=5V?LL ?V>6V4=<E 

>>D?>D4F<6=<E >5?V74FV= 6 '>D4W=V.  
17. $>76<F>> 4?7>D<F<VG=>W F>D7V6?V 6 '>D4W=V.  
18. �=4?V7 D>76<F>G F4 D57G?N64==O D<=>G FOREX 6 '>D4W=V.  
19. �=4<>4F>D< F>D7>6<E E<EF5< =4 D<=>G DV=4=E>6<E 4>F<6V6.  
20. '?D46?V==O D<7<>4<< V=F5D=5F-FD5=4<=7G =4 D<=>G FV==<E ?4?5DV6.  
21. �6D<EF<>4 D5?D575=F4F<6=>EFV =4 D>=4>6><G D<=>G '>D4W=<.  
22. �=4?V7 4VT6>EFV F5>DVW ?5DE?5>F<6 =4 6VFG<7=O=><G D<=>G DV=4=E>6<E 

4>F<6V6.  
23. �E<E>?>7VG=V 4E?5>F< DV=4=EV6 F4 WE D>?L 6 ?D< ?D<==OFFV 

V=65EF<FV==<E DVL5=L.  
24. �VT6VEFL 75LF4?L4EL>>W F5>DVW G ?>654V=>>6<E 4E?5>F4E DV=4=E>6<E 

V=65EF<FV=.  
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25. �>7=VF<6=4 ?E<E>?>7VO ?D< ?D<==OFFV V=65EF<FV==<E DVL5=L.  
26. �>DV6=O?L=<= 4=4?V7 ?D>7D4<=<E ?D>4G>FV6 4?O D>7D>5>< F>D7>6<E 

D>5>FV6 4?O D<=>G DV=4=E>6<E 4>F<6V6  
27. %?5>G?OF<6=V EFD4F57VW 4?7>D<F<VG=>W F>D7V6?V F4 WE 4VT6VEFL =4 D<=>G 

FV==<E ?4?5DV6 '>D4W=<.  
28. �D5>F<6=VEFL E<EF5<< «FDL>E 5>D4=V6» �?45D4 =4 =4FV>=4?L=><G 

D>=4>6><G D<=>G.  
29. $V=4=E>6V >>65=4=F< 6 V=65EF<FV==<E ?D>E?5>F4E 5<VF5=FV6 5>D7>6<E 

FV==<E ?4?5DV6.  
30. �VT6VEFL <>45?5= O?>=EL><E E6VG>> =4 D<=>G FV==<E ?4?5DV6 '>D4W=<.  
31. �D>7D4<=5 74557?5G5==O V=F5D=5F-FD5=4<=7G =4 D<=>G FV==<E ?4?5DV6  
 

8. �5F>4< =46G4==O 
%?>65E=V <5F>4< =46G4==O. �>OE=5==O 3  65D54?L=<= <5F>4 =46G4==O, O><= 

?5D5454G4T D>7>D<FFO EGF=>EFV ?56=>7> O6<M4, ?D>F5EG, 74>>=G. �V= �DG=FGTFLEO 
=5 EFV?L>< =4 GO6V, E>V?L>< =4 ?>7VG=><G <<E?5==V 7 6<>>D<EF4==O< 
?>?5D54=L>7> 4>E6V4G. 

�5EV44 ?5D5454G4T 6<>>D<EF4==O ?>?5D54=L>7> 4>E6V4G 7 ?56=>W 74?G7V 
7=4=L V =4 >E=>6V FL>7> 74?GG5==O WE 74 4>?><>7>N 4V4?>7G 4> GE6V4><?5==O 
=>6<E O6<M, ?>=OFL 45> 6V4F6>D5==O G65 =4O6=<E 7=4=L. �4 <VEF5< G 
=46G4?L=><G ?D>F5EV 6<4V?ONFL 55EV4<: 6EFG?=G, ?>F>G=G, ?V4EG<>>6G. 

�5>FVO 3 F5 <5F>4 =46G4==O, O><= ?5D5454G4T D>7>D<FFO G E?>65E=V= D>D<V 
EGF=>EFV O6<M, =4G>>6<E ?>=OFL, ?D>F5EV6, O>V 7=4E>4OFLEO <V6 E>5>N 6 
?>7VG=><G 76'O7>G, >5'T4=4=V 7474?L=>N F5<>N. �>DV< =46G4?L=<E (4>445<VG=<E) 
?5>FV= T ?G5?VG=V. �> >>6=>7> 7 6<4V6 =4764=<E ?5>FV= 6<EG64NFLEO ?56=V 
6<<>7< M>4> WE ?V47>F>6>< V ?D>6545==O. 

�D4>F<G=V <5F>4< =46G4==O. %?DO<>64=V =4 4>EO7=5==O 7465DL4?L=>7> 
5F4?G ?D>F5EG ?V7=4==O. �>=< E?D<ONFL D>D<G64==N G<V=L V =46<G>>, 
?>7VG=><G 7465DL5==N ?4=>< ?V7=464?L=>7> ?D>F5EG EF>E>6=> >>=>D5F=>7> 
D>74V?G, F5<<. 

�D4>F<G=4 D>5>F4 E?DO<>64=4 =4 74EF>EG64==O =45GF<E 7=4=L G D>76'O74==V 
?D4>F<G=<E 74644=L. 

9. �5F>4< >>=FD>?N 
 

�>F>G=<= >>=FD>?L 
� ?D>F5EV ?>F>G=>7> >>=FD>?N 74V=E=NTFLEO ?5D56VD>4 74?4<'OF>6G64==O F4 

D>7G<V==O ?D>7D4<=>7> <4F5DV4?G, =45GFFO 6<V==O V =46<G>> >>=>D5F=<E 
D>7D4EG=>V6 F4 >5�DG=FG64=L, >?D4FN64==O, ?G5?VG=>7> F4 ?<EL<>6>7> 6<>?44G 
(?D575=F4FVW) ?56=<E ?<F4=L 4<EF<??V=<. 

�>F>G=<= >>=FD>?L 74V=E=NTFLEO L?OE>< >?<FG64==O 45> F5EFG64==O ?V4 
G4E ?5>FV= F4 ?D4>F<G=<E 74=OFL, 4 F4>>6 74 ?V4EG<>4<< E<EF5<4F<G=>EFV V 
4>F<6=>EFV D>5>F< EFG45=F4 ?D>FO7>< E5<5EFDG. ' D47V =56<>>=4==O 74644=L 
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?>F>G=>7> >>=FD>?N 7 >5'T>F<6=<E ?D<G<=, EFG45=F <4T ?D46> E>?4EF< WE 
V=4<6V4G4?L=> 4> >EF4==L>7> ?D4>F<G=>7> 74=OFFO. �>DO4>> >D74=V74FVW F4>>7> 
>>=FD>?N 6<7=4G4T 6<>?444G, O><= ?D>6>4<FL ?D4>F<G=V 74=OFFO. 

$57G?LF4F< ?>F>G=>7> >>=FD>?N 7=4=L EFG45=FV6 74=>EOFLEO 4> D>5>G>7> 
6GD=4?G 6<>?444G4 F4 4>6>4OFLEO 4> 6V4><4 EFG45=FV6. 

%<EF5<4F<G=VEFL V 4>F<6=VEFL D>5>F< EFG45=F4 ?D>FO7>< E5<5EFDG 
>>=FD>?NNFLEO V >FV=NNFLEO 74 F4><<< 6<44<< D>5>F<: 6V46V4G64==O 
?D4>F<G=<E 74=OFL; 6<EFG?< =4 ?D4>F<G=<E 74=OFFOE, GG4EFL 6 >57>6>D5==V 
?<F4=L ?56=>W F5<<, 6V4?>6V4V =4 74?<F4==O 6<>?444G4 M>4> WE EGFV; 6<>>=4==O 
4><4L=VE 74644=L; 5>E?D5E-F5EFG64==O; ?V47>F>6>4 4=4?VF<G=<E >7?O4V6 
(D5D5D4FV6) 7 >>D5<<E ?<F4=L; GG4EFL G EFG45=FEL><E >>=D5D5=FVOE, >?V<?V444E, 
>>=>GD4E 7 ?D>5?5< 4<EF<??V=<. 

�FV=N64==O 747=4G5=<E 6<4V6 ?>F>G=>W D>5>F< EFG45=F4 74V=E=NTFLEO 74 
L>4?>N, 6V4>5D465=>N G F45?<FV. 

&45?<FO  
�5D5?V> D>5VF, >5>6'O7>>6<E 4?O 6<>>=4==O EFG45=F>< ?V4 G4E 6<6G5==O 

4<EF<??V=<  
�<4< D>5VF �V?L>VEFL 

54?V6 
1. �<EFG? =4 ?D4>F<G=><G 74=OFFV, GG4EFL 6 >57>6>D5==V >>D5<<E ?D>5?5<, 

6V4?>6V4L =4 74?<F4==O 6<>?444G4 (7 V=F5D64?>< >FV=>> 0, 1, 2, 3 74?56=> 6V4 
D>7G<V==O EGFV ?<F4==O, ?>6=>F< =>7> 6<E6VF?5==O V 7?<5<=< 4D7G<5=F4FVW) 

043 

2. �>F>G=5 5>E?D5E-F5EFG64==O (7 V=F5D64?>< >FV=>> 0,1,2 74?56=> 6V4 
>V?L>>EFV ?D46<?L=<E 6V4?>6V45=) 

042 

3. �V47>F>6>4 F4 ?D575=F4FVO 4=4?VF<G=<E >7?O4V6 (D5D5D4FV6) 7 >>D5<<E 
?<F4=L 74 ?>7>465==O< 7 6<>?444G5<, GG4EFL G 4V?>6<E V7D4E, D>77?O4V ?D4>F<G=<E 
E<FG4FV= (7 V=F5D64?>< >FV=>> 0, 1, 2, 3 74?56=> 6V4 DV6=O D>5>F<) 

043 

4. 'G4EFL G EFG45=FEL><E >>=D5D5=FVOE, >>=>GDE4E, >?V<?V444E 74 F5<4F<>>N 
4<EF<??V=< (7 V=F5D64?>< >FV=>> 1, 2, 3, 4, 5 74?56=> 6V4 D57G?LF4FV6 GG4EFV) 

145 

 
�>4G?L=<= >>=FD>?L. 
�>4G?L=<= >>=FD>?L 74V=E=NTFLEO G D>D<V 2 >>=FD>?L=<E D>5VF 

(<4>E<<4?L=4 >FV=>4 - 20 54?V6) 74 >>D5<<<< G4EF<=4<< 4<EF<??V=< 
(<>4G?O<<).  

�4 6V4EGF=>EFV EFG45=F4 =4 >>=FD>?L=><G 74E>4V 557 ?>646=<E ?D<G<= 
<>4G?L 66464TFLEO =5 >?4=>64=<<. �5D5E>?444==O <>4G?V6 74V=E=NTFLEO G 
F5D<V=< 6<7=4G5=V 6<>?444G5<. $57G?LF4F< <>4G?L=>7> >>=FD>?N 4>6>4OFLEO 4> 
6V4><4 EFG45=FV6. 

�4>E<<4?L=4 >V?L>VEFL 54?V6 74 <>4G?O<< 4>DV6=NT 100 54?4< = 45 
(1 <>4G?L) + 45 (2 <>4G?L)+10 (?V47>F>6>4 D5D5D4FG). 

�V4EG<>>6<= >>=FD>?L. 
�V4EG<>>6<= >>=FD>?L - >><??5>E=5 >FV=N64==O O>>EFV 74E6>T==O 

=46G4?L=>7> <4F5DV4?G 4<EF<??V=< 74 6EV<4 6<44<< =46G4?L=<E 74=OFL. 
�V4EG<>>6<= >>=FD>?L 74V=E=NTFLEO G D>D<V VE?<FG. �E=>6=<< 74644==O< O>>7> 
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T ?5D56VD>4 D>7G<V==O EFG45=F4<< ?D>7D4<=>7> <4F5DV4?G 4<EF<??V=< 6 FV?><G, 
D>7G<V==O ?>7V>< F4 674T<>76'O7>V6 <V6 >>D5<<<< D>74V?4<<, 744F=VEFL F6>DG> 
6<>>D<EF>6G64F< >FD<<4==V 7=4==O. 

 
10. $>7?>4V? 54?V6 

 
�>F>G=5 F5EFG64==O F4 E4<>EFV==4 D>5>F4 

%G<4 54?V6 
�<VEF>6<= <>4G?L 1 �<VEF>6<= <>4G?L 2 

&1 &2 &3 &4 &5 &6 
100 

15 20 15 15 20 15 
 
 
 
 

,>4?4 >FV=N64==O 
 

�4 L>4?>N �>74<5= �4?V> �4?< 

A �V4<V==> �4D4E>64=> 90-100 
B 

�>5D5 �4D4E>64=> 
82-89 

C 74-81 
D 

�44>6V?L=> �4D4E>64=> 
64-73 

E 60-63 
FX 

�5744>6V?L=> 
�5 74D4E>64=> 35-59 

F �5 74D4E>64=> 0-34 

 
11. $5>><5=4>64=4 ?VF5D4FGD4 

 
�E=>6=4 ?VF5D4FGD4 

1. �>7<?56EL>4 �. .., $57=V> �. �., %?>5>4O=<> A. M. �VD6>6<= 
DV=4=E>6<= D<=>> '>D4W=< ?D>5?5<< V ?5DE?5>F<6< D>76<F>G: <>=>7D4DVO. �<W6: 
�<4- 6> �<�', 2017. 262 E.  

2. �4D54D �. �. $V=4=E>6<= D<=>>: <>=>7D4DVO.�<W6: �<W6. F>D7.- 5>>=. G=-
F, 2015. 455 E.  

3. �>?<?>64 �. �. &D5=4<=7>6V <5D56V: EGF=VEFL F4 56>?NFVO: <>=>7D4DVO. 
&5D=>?V?L: �E44F4 .. �., 2018. 207 E.  

4. �D46GG> �. %. �=F5D=5F-FD5=4<=7 =4 DV=4=E>6<E D<=>4E: =46G.- <5F>4. 
<4F5DV4?<. &5D=>?V?L: &���, 2014. 163 E.  

5. $<=>> DV=4=E>6<E ?>E?G7: ?V4DGG=<> / �. �. �D<>47N> F4 V=.; 74 D54. �. 
�. �D<>47N>. �<W6: /<G<=EL><= �. �., 2019. 756 E.  

6. %>?>4><= �.�., �?LGG> �.�., /6>DEL>4 �.�. �=4?V7 V ?D>7=>7G64==O 
5VD6>6>7> D<=>G. 3 �<W6: $�� /<G<=EL><= �.�., 2020. 642 E. 
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